| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

0 ]
£
Qe
[~ o
) I
Lo
5
S s 5 o
= e —
Lo 2
2
8
o 5 )
2
) 8
[ ° o
o E —
— [ |
! 2
LD o
— 2 o
1 £ IN]
o 2 1
S E
! 5 N
) H o
N % L ]
) 8 31
5 3
=z
o _ o
N o
£
LE
2 o
Lo I
— O
]
o
1M =]
)
o )
el
! o
o —
0 '
Lo N
i . o
1 I
o . 1
o .
< bl
3 R
S =
H
Q= 5]
£
IS
[ W« o
= s N
S X
gl oS M
....... 5 — © N o
{ - ° —
0
o bl >
2 <
£ < g
© =
....... = Lo 3
= E
J s |2
> — 'S
ol 1 S
« [t} 2
— — =
9 | 2
K o -t
b N g
]
PP PP PYTIPEL PITIITEN PITIPEL T . e | I 9 2
o B3 o ° = 2= f) s S
5 .8 & 3 s A 5
syoell enn 2=t | =
o
2= —
Fa
I =
2.9
It T fTe} Q
fa) Q= 11
O £
....... POl 4R S
L L > o
I o X I
PO — ©
X
= o ©
oo — © o
afal s —
)
..... o )
.......................... 0
o
o 3| i
— 1
i g
— b o
| @ N
o 5 |
N ol
N ! 2 N o
wis 1 L0 2 [
CHE T 5 5 £
=) Z| — (=]

2
oney

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


